®

|en¢$
A fooi A BerTer way’

AND O

A.B.N. 39 073 621 208

Factory 13 5 Speedwell Street Somerville Vic 3912 Email : info@roofextenda.com.au
Phone (03) 5978 8755 Website : www.roofextenda.com.au

S300 INSTALLATION GUIDE

General Installation

1. Remove Roofing tiles or lift roof sheets to achieve an opening to fit the Roof
Extenda bracket.

2. Bolt angle bracket to the threaded rod & backing plate to the selected rafter
with 2 or 4 x M12 coach screws. Secure the bracket to the top plate with
2-M10 coach screws through the two lower bottom holes.

3. Replace roof tiles or roof sheet, cutting a hole to allow the
threaded rod to penetrate the roof.

4. Ensure you seal the centre hole in the top bracket prior to
attaching pergola or carport beam, for further weather proofing.

Care Instructions

Brackets to be cleaned and inspected yearly and re-coated if required.

FlashRite Weather Seal

If using a FlashRite weather seal it is fitted to the top bracket, top bracket is then wound
down to the desired height and the lock nut tightened. Mark the position of the FlashRite
weather seal on the roofing. Slide the FlashRite weather seal up to apply clear neutral cure
silicone inside the area marked, press the FlashRite weather seal into position and finish with
a bead of silicone to the edges of the FlashRite weather seal to complete the fitting.

Flexatile

If using a flexatile, remove the middle lining from the underside of the flexatile. Cut the
rubber cone at least 15mm smaller than the bracket outside diameter with a sharp knife or
scissors. Ensure tiles are cleaned before installation. Lubricate the bracket with water and
slide the flashing down the bracket. Form an anti-capillary fold at top of base sheet. Remove
the protective backing from the underside of the flashing, that is covering the butyl adhesive
strips. Hand form the base all around the tile and apply pressure to the butyl adhesive side
strip.

Note

Local Council or Shire approval may be required prior to construction. Engineer’s computations related to Roof
Extenda products are available on the website. Roof Extenda accepts no responsibility for the type of
construction undertaken.


mailto:info@roofextenda.com.au

dd

PTY

er WAY’

Installation Overview

SPLIT SHOULDERS STEPS 2 & 3 ONLY
WITH SCISSORS IF RETRO-FITTING

l,

© crvP FLASHING

WHEN SLIDING FLASHING DOWN
PIPE, LUBRICATE PIPE WITH WATER

Ny

SHOULDERS WITH
RETROFIT CLIPS,
FACE JOINT
DOWNSTREAM.
@) cuT conE TO EXACT
CORRESPONDING ORM
PIPE DIAMETER ” ° :oor ;2oms o 3 /

© mar< out

LIFT FLASHING SILICONE PATHS

UP PIPE

Q) APPLY SEALANT ON
MARKED PATH

() REALIGN FLASHING ONTO ROOF AND FIX WITH
APPROPRIATE FASTENERS. START HERE

Installation Overview

LUBRICATE PIPE WITH WATER AND SLIDE
REMOVE THE MIDDLE LINING FROM THE UNDERSIDE OF THE THE FLASHING DOWN THE PIPE

FLEXATILE

BUTYL ADHESIVE STRIP ON THE UNDERSIDE OF FLASHING

W Ak FORM AN ANTI-CAPILLARY
e CUT THE RUBBER CONE AT LEAST 15mm FOLD AT TOP OF BASE SHEET
SMALLER THAN PIPE O.D, WITH A SHARP

KNIFE OR SCISSORS

O remove THE
PROTECTIVE BACKING
FROM THE UNDESIDE
OF FLASHING, THAT IS
COVERING THE BUTYL
ADHESIVE STRIPS

HAND FORM THE BASE ALL AROUND
THE TILE AND APPLY PRESSURE TO THE
BUTYL ADHESIVE SIDE STRIP

o ENSURE TILES ARE CLEANED BEFORE INSTALLING
THE FLEXATILE FLASHING TO ENSURE THE BUTYL
ADHESIVE STRIPS CAN HAVE MAXIMUM EFFECT
WHEN BONDED TO THE TILES



ADJUSTABLE HEIGHT
FROM 320mm MINIMUM

TO 380mm MAXIMUM

BOLT ANGLE BRACKET
WITH THE THREADED ROD
TO THE SELECTED TRUSS

BOTTOM CHORD OR
RAFTER WITH 2/M12 BOLTS

S300

WEATHER SEAL

FITTED TO THE
TOP BRACKET

50mm MIN. FROM
CENTRE OF BOLT
TO TOP EDGE

TOP OF BRACKET
TOBEBOLTED TO
THE ROOF BEAM

ACCORDING TO THE

SPECIFICATIONS
SECURE THE BRACKETS

TO THE TOP PLATE WITH
2/M10 COACH SCREWS
THROUGH THE TWO
LOWER BOTTOM HOLES
NOTE:
RAFTER/TRUSS TIE DOWNS MUST BE SUFFICIENT
FOR INCREASED ROOF LOAD AND MUST BE
INSTALLED IN ACCORDANCE WITH AS1684

Adjustable height from 320mm to 380mm maximum



	General Installation
	FlashRite Weather Seal
	Flexatile
	S300 Bracket Detail.pdf
	S300 Bracket Detail


